F17E2AKXTFTRAKRE

98 Tu&m [FIMEA  HFI6FE10A108
86 79.22
a—+F K] F—L% EENo. EFA 4R | Fin “ J@ATOTAL_ IIE {2 \ F—LTOTAL Bz
15—L | 25—L | 35—L 17—L | 25—L | 35—L
1 Witz BRI BIFRA |EF Ik MF z 85 90 90 150 330 35
1 Witz BILETEHRBIIRA #EF2  |/MNFHF BF z 65 19 21 97 137 105
1 Wiz BILETEHRBIIRA #F3  |KkHF =F z 75 40 36 34 110 122 149 147 281 577 33
1 Az HIESHRETSA (B |E# BF T 79 140
1 Az EIRHTERSA |[#HR2 140
2 RHH B AF—L EF1 Bk =5 B 79 90 180 300 570 7
2 RHW EHff AF—LA EF2 Bt B— 2 88 180 35 120 335 33
2 RHM EHff AF—LA #F3  |BRH =F z 77 180 180 300 660 2 450 395 720 1565 1
2 RHW EHfE AF—L R 140
2 RHW EHfE AF—L fHR2 140
3 RHW NFERESR A EF HEE ES 2 83 39 90 180 309 41
3 K~HM NRERER A EF2 B X 3 84 180 150 300 630 4
3 KHW NRRER A EF3 | TH BB 2 92 180 180 90 450 18 399 420 570 1389 3
3 KHW NRERER A R 140
3 RHW NRERES A fhR2 140
4 KHW EHff CF—AL EF BEA #O = 81 36 90 30 156 98
4 RHW EHff CF—AL EF2 (MR #&F 7 85 93 60 90 243 65
4 RHM B CF—AL EF3 Bt ERF = 88 150 300 90 540 9 279 450 210 939 15
4 RHM B CF—AL R 140
4 RHM B CF—AL fHR2 140
5 RHM FREE A EF #EF BhF = 73 42 37 39 118 120
5 RHM FRER A BF2  |FIF ki 2 85 150 44 150 344 32
5 RHM FREE A #EF3 | = ) 86 180 180 90 450 18 372 261 279 912 16
5 RHM FREE A R 140
5 RHM FREE A fHR2 140
6 ITEn:) HE=ZF—L #EF1 |HN E 2 82 33 90 14 137 105
6 LI ET HI=ZF—L #EF2 |IIO ¥ = 81 90 36 126 117
6 LI ET HI=ZF— L EF3 |k EF 8 80 90 60 60 210 77 213 186 113 512 37
6 LI ET HI=ZF— L xR 39 39
6 LI T HI=ZF—L HR2
1 SEETT LEEEs EF1 IMNE FEYF = 72 66 67 180 313 40
1 SEETT LEEEs EF2 LK EBEF = 68 60 38 30 128 116
1 SEETT LEEEs EF3 KM EE 2 87 120 60 120 300 45 246 165 330 741 23
1 SEETT LEEEs xR 140
1 BT LEEES HwxR2 140
2 SEET ELLUT7MmHE  |EF |FE Mh ;2 75 65 151 37 253 56
2 SEETT ELLUSTEHE  [EF2  |FE €0F = 73 180 180 300 660 2
2 SEETT EooOSTmMEE  |EF3  |dhEk ERE 2 71 15 90 150 255 55 260 421 487 1168 6
2 SEETT ELLUSTMEHE (R
2 SEETT ELLUTTEMHE  |#R2 140
3 5l EHTERFR EF1 FIER fR= 2 77 60 150 35 245 64
3 ax L HET FEHTERFR BEF2 |B T = 80 35 90 90 215 74
3 ax L BT FEHTEFS BEF3  |E M 2 82 30 9 50 89 129 125 249 175 549 35
3 =LA FEHTEFS WR1 | FE YT T 79 140
3 =LA EHTERFR #HR2
4 ax L BT FEI7oH 4957 | EFI Bk T = 82 90 42 61 193 84
4 ax L BT FET7OHYA05T  |EF2  |EE AT = 82 300 120 60 480 14
4 ax L BT FET7OoHA495T7  EF3 NI FXF = 84 180 120 180 480 14 570 282 301 1153 7
4 ax L BT FEI7OoH 4957 |f#HR1 Hith EF = 82 140
4  |ERLEHET FEI7OoHA05T7 |HHR2
5 Lz BIAWmREGRB #F1  |FH RF T 71 38 90 60 188 86
5 Az BIAGRRENRB (#F2 |RE FSF z 87 60 67 6 133 111
5 Witz HIIARIREFRB |#F3  |B¥ EE 2 85 90 60 35 185 87 188 217 101 506 38
5 WAz FIRTSHREBGEB (MR |EO & T 79 140
5 Lz HIIRRITEFRB (#R2 |#lS &F T 76 140
6 KITHT INREER EF KB BEF 8 82 11 150 60 221 70
6 KILET INREESR BF2 |FH IF = 81 108 35 90 233 68
6 KILET INREESR EF3 | REE FD = 80 150 150 120 420 26 269 335 270 874 18
6 KITHT INREER Rl |RERE 2 2 76 140
6 KITHT INREER fHR2 140
1 KITHET ARRER EF1 MR EF = 72 90 60 150 300 45
1 KILET AREER EF2  |BaM C= = 82 66 69 60 195 83
1 KITHT ARRER BEF3 M BET z 73 60 90 150 300 45 216 219 360 795 20
1 KiTHT AXRER R R OEF T 76 140
1 KITHET AREER FHR2 140
2 KITHET EREES EF1 BTE HF z 76 40 61 180 281 50
2 KiTHT BERGEHFR BEF2 A ETF T 74 60 60 90 210 77
2 KiTHT BERGEHFR #EF3 (A <5 T 75 61 90 90 241 66 161 211 360 732 24
2 KiTHT BERGEHFR MRl |E fER T 77 140
2 KiTHT BERGEHFR fHxR2 140
8 £t FRIMXBEDE |#EF1 (AIFH B 8 70 180 90 60 330 35
3 Ll FRMRFEOE |EF2 |H)I FHI z 89 42 19 90 151 99
3 Ll FRMRBEDSE |[BEF3 |[NER HF = 75 35 62 61 158 95 257 171 211 639 31
8 Elimh FRMRBEDE R AH RAF z 84 140
3 i FRMEBEOSR |BR2 |AH X 8 88 140
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4 Ll mYBLDHE EF1 FIAIR XF z 78 90 31 16 137 105

4 Ll mYBLDHE #EF2 |/NE #F3h 8 76 18 37 31 86 132

4 Ll mYBLDHE BEF3 &M BT z 75 300 90 180 570 7 408 158 227 793 21
4 |k MY BLDHER R |HY E&#@E B 81 140

4 |kl MY BLDHE wR2 |RE Ex 5 78 140

5 I BREHER #EF1 /B IR 8 83 90 90 16 196 82

5 EIh BREHER #F2 |RR BIF T 78 6 18 60 84 133

5 EIh BREHER #F3 | FRB =T T 77 33 30 30 93 127 129 138 106 373 42
5 L BREHESR xRl |IEk Rt 5 87 140

5 L BREHESR WxR2 |k J3F T 81 140

6 KR T#HHELODHLS EF T FF 7 82 90 10 90 190 85

6 KiR THEHLOHDE BEF2 | 5H ™HE 2 82 180 180 90 450 18

6 KiR THEHLOHDE EFI  |FH EX =B 90 150 300 60 510 11 420 490 240 1150 8
6 KiR THHAL DD WR1 B EF T 80 140

6 KR THHEHLOHLE fhR2 140

1 KiRh F7ILKA:-DYST |EF1 |HH B= =2 86 90 35 90 215 74

1 KR BHT7ILKA:-DYST EF2 |ihH EB L2 82 67 30 60 157 97

1 KR BT7ILKA-DYST #EF3 |TE 5 ) 75 35 60 35 130 114 192 125 185 502 39
1 KR FHT7ILKA:-DYST |#R1 &F 1B 2 87 140

1 KR A7 ILKA-DYST |#HR2 |E+ZE BF = 79 140

2 | LIET FILET EEFS EF1 ME S50 E8 85 31 60 60 151 99

2 | LIET FILET EEFS BEF2 |ME MR 2 85 30 31 38 99 125

2 | LIET HRILET EEFR EF3  |#K BHA ) 83 90 M 120 251 58 151 132 218 501 40
2 e LI T HPILET ZE&EFE @RI |ME FIF E8 80 140

2 | LIET RILET EEFR fHR2 140

3 Fmh FRREESR EF1 23 Kt 2 75 180 60 7 247 60

3 il RIREBER EF2 A& EF 2 7 90 90 90 270 53

3 Flmh FRREESR EF3 B TAHS 8 87 180 150 180 510 11 450 300 277 1027 11
3 il FREER R

3 Flth FEREESR wmx2 |tEB BF = 68 140

4 il AHEANESR EF1 AR B 2 79 30 150 60 240 67

4 Flmh AHEAREFSR BF2 BB &7 = 86 30 125 150 305 43

4 Flmh AHEAREFSR EF3 |BIE TIF T 84 35 95 38 168 91 95 370 248 713 25
4 Fmh AHEAREFSR xR KE BE 2 79 140

4 Flmh AHARESR WR2 |HB BS E: 87 140

5 Flmh PEE S EF B ES 8 76 60 90 30 180 89

5 Flmh PEE S BEBF2 | RFR ORBE 2 76 60 35 40 135 109

5 Flmh PEE S EF3  |RE EE 8 86 60 60 90 210 77 180 185 160 525 36
5 Flmh PEE S R RiE BE3E = 72 140

5 #ilh EFR R2 |RE EB 2 76 140

6 fiE )1 A mEZANIST EF1 ik XhE 2 78 38 60 M 139 104

6 fiE )1 mEZANIST EF2 |k Ei# 2 78 5 35 60 100 124

6 )1 FEBEANIST EF3 R 8 73 35 30 43 108 123 78 125 144 347 43
6 BN+ DI=EINT ) R

6 BN+ FEBEANIST HR2

1 WL BT TERREFR BF |Ek B’ =2 76 14 36 39 89 129

1 e ET +EREHFR #EF2 |t 8 =2 80 38 60 35 133 111

1 WL BT TERREFR BF3 Tk R : 75 34 30 30 94 126 86 126 104 316 45
1 WL BT TERREFR xRl |ER 2 76 140

1 e {4 T TERREFR HR2 140

2 W BT AR E NP EF fIgp EH 8 80 180 120 150 450 18

2 W BT AR E NP EF2 |IE S 8 79 180 90 180 450 18

2 W BT AR E NP BEF3  |INEHF ET = 82 150 6 90 246 62 510 216 420 1146 9
2 WEAEET AR E NP R 140

2 WEAEET AR E NP fHR2 140

3 W BT EHthREAIST |EFI ER B 2 82 180 180 90 450 18

3 WL BT EEMREAIST [EF2 |BE A 2 85 300 300 300 900 1

3 Wk BT EHthEREAIST |EF3 |BE EE 2 74 63 35 60 158 95 543 515 450 1508 2
3 WEAEET EEREAIST  |HRI 140

3 WEAEET MR EAIST  |#HR2 140

4 W ET BHEMR EAIST | EF1 BN R 8 72 12 43 60 115 121

4 W ET BHEMREAIST |EF2 (ER RS 2 70 35 9 90 134 110

4 Wik BT TEMREAIST |EFI3 |§FH EiE 2 73 60 19 14 93 127 107 71 164 342 44
4 W ET BHEMR EAIST  |FHRI 140

4 |ME{ERT BHEMREAIST  |#HR2

5 =JIIET F—LEDTE EF o ’BF E=8 79 120 60 123 303 44

5 =JIIET F—LENDTE BEF2  |fIE HE— g 82 42 60 35 137 105

5 =)IET F—LEDTE BEF3 |EF MF = 75 150 180 120 450 18 312 300 278 890 17
5 =JIIET F—LEDTE R |KE ES 8 82 140

5 =JIET F—LEDTE fHR2 140

6 SEETT SEHET A BFE1L | 8 77 300 90 182 572 6

6 SEET BHAT A EF2 | RE #B— 8 77 60 38 22 120 119

6 SEET BEAT A =EF3 P Ex 2 79 120 300 120 540 9 480 428 324 1232 4
6 SEET SEET A R 140

6 SEET BEAT A fHx2 140




F17E2AKXTFTRAKRE

98 Tu&m [FIMEA  HFI6FE10A108
86 79.22
a—+F K] F—L% EENo. EFA 4R | Fin “ J@ATOTAL_ IIE {2 \ F—LTOTAL Bz
15—L | 25—L | 35—L 17—L | 25—L | 35—L

1 S ET B AUTR BF |FE B 8 88 42 42 183 267 54

1 FHET B AUTER BF2 |FE LAF T 75 30 60 39 129 115

1 FiHfZ ET B AUTER BEF3 B XETF z 82 127 90 30 247 60 199 192 252 643 30
1 S ET B AUTR MRl |(fRE OK— 5 78 140

1 S ET B AUTR WR2  |[fRER EENR B 77 140

2 Witz BR B EF feK E=heF k- 84 180 150 180 510 11

2 Witz BR B #EF2 |l =& 2 75 35 150 35 220 71

2 Lz iR B EF3 (BER B5 =B 89 90 90 150 330 35 305 390 365 1060 10
2 Wiz BR B R 140

2 Wiz BR B fHR2 140

3 Wiz HiR A EF 25 BF = 87 63 90 60 213 76

3 tLifz HiR A #F2 |l FuiT T 81 60 151 35 246 62

3 Wiz BR A =EF3 kB XS 2 79 41 66 90 197 81 164 307 185 656 29
3 Wiz BR A R 140

3 Wiz BR A fhR2 140

4 FRAt +ZiREADST EF1 B 2= 3 82 35 60 180 275 52

4 FiR# +ZiRZBEAIST EF2 MR JEF 7 80 60 60 20 140 103

4 FiR% +ZiREAIST EF3 |FE L ) 73 300 156 150 606 5 395 276 350 1021 12
4 FiR% +IREANIST R B R=F T 84 140

4 FiR% +IREANIST wR2 |F#®& BF T 66 140

5 AR ET F/F A EF SH fEF = 81 32 60 49 141 102

5 |BREHT F/F A EF2 | BE 2 72 37 38 12 87 131

5 AR ET F/F A EF3 B = ) 86 120 38 91 249 59 189 136 152 477 41
5 i) F/F A R B FR 2 82 140

5 i) F/F A #R2 |FEKX BF = 77 140

6 =) F/F¥ B EF EH B— 2 75 21 2 1 24 139

6 =) F/F¥ B EF2 |BE BAT = 85 33 11 12 56 136

6 =) F/F¥ B EF3  |ftll BE 8 70 30 9 37 76 135 84 22 50 156 46
6 =) F/F¥ B xR HE BF = 86 140

6 =) F/F¥ B Wwxr2 |(tEM EEE E 70 140

1 Rt BHYAESVST | EF FE BF¥ = 74 120 150 95 365 31

1 Rt BHYAESVST  |EEF2 |EE ADF = 75 150 38 14 202 80

1 Rt BHYAESVST |EEF3 |RE BETF = 73 60 40 180 280 51 330 228 289 847 19
1 PN 23] BHYAESVST  |HERI HE =&#F = 75 140

1 Kk st BHYAESVST  |HR2 |ZER #F = 72 140

2 #BRE ™ AREREEFS EF Fik EF = 88 36 150 67 253 56

2 #BRE ™ AREREEFS EF2  |EE oK T 83 60 180 60 300 45

2 #BE ™ AREREFR BEF3  |INEHF AT = 82 30 90 39 159 94 126 420 166 712 26
2 #BRE ™ AREREEFS xR B HSF = 77 140

2 #RE ™ AREREFS HWR2 |FEE EULF T 77 140

3  |BRE™ wRFNFHS EF1 |FWN FiE 8 66 35 90 60 185 87

3 e T wRIFNFRS EF2 |k EB 2 76 90 150 60 300 45

3 #SRE T AN TFES BEF3  |k#k ER 8 78 30 60 90 180 89 155 300 210 665 28
3 #SRE T WHNTFER R 140

3 #SRE T WHNTFESR HR2 140

4 XEM A/NMEFES EF Flg & =2 75 90 150 180 420 26

4 XEM A/NMEES EF2  |\# T T 86 18 31 35 84 133

4 XEM A/MNEFES #EF3 /ML ETS E=S 81 150 150 150 450 18 258 331 365 954 14
4 XEM A/MNEFES xR AR 2 2 82 140

4 XEM A/NMEES fR2 (B FZ 2 74 140

5 XEM XEW BRIZT |BEF |kE BA =2 84 60 35 38 133 111

5 XEM XEW BRIZT |[EF2 |EKRK i B 76 155 90 90 335 33

5 XEM XEM BRIZT |(EF3 B M 2 85 180 38 90 308 42 395 163 218 776 22
5 XEM XEW BKRIZ7 (@R [HBE ZVF T 75 140

5 XEM XEW BRIZT |#HR2 (g HF T 79 140

6 BT MPEIST A | EF1 B & 2 82 39 38 68 145 101

6 BT MPEHIST A | EF2  |EE E 8 76 90 60 67 217 73

6 ERRE ™ IOOEHST A [BEF3 |FEE T 2 76 150 90 90 330 35 279 188 225 692 27
6 |ESRE™ IOPEHST A (R KB B 8 76 140

6 |ESRE™ MOOEHST A |WR2  |FEER #— 8 77 140

1 #BRE ™ MOPEHST B [BF1 |FEE EE Z 83 35 30 60 125 118

1 ESRE ™ MR ESST B |EF2  |BR Fot T 78 300 128 38 466 17

1 ESRE ™ MR ESST B | EFI |EH AT T 77 90 150 150 390 28 425 308 248 981 13
1 ESRE ™ MPESST BRI ER TYF T 79 140

1 #RET MIPEIST B fHxR2

2 ESRE ™ FRFRBFF—L EF E+E #a 8 85 90 120 180 390 28

2 ESRE ™ FRFRBFF—L |BF2 |Et+E ES 2 84 90 150 90 330 35

2 ESRE ™ FRFREFF—L |#EF3 |fRE 5— 8 80 150 150 180 480 14 330 420 450 1200 5
2 R FRFRBFF—L |[HXRI 140

2 R FRFRBFF—L |#HR2 140

3 mkE™ BES EF B A—ER 8 85 150 34 38 222 69

3 makE™ BES #F2 BB F- 2 74 11 90 60 161 93

3 mk&E™ BER #F3 |FE Bib B 76 69 39 60 168 91 230 163 158 551 34
8 mk&E™ BER MRl |TAlE EHE 8 70 140

3 mk&E™ BER fHxR2 140
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4 mksm BARE] KER EF =25 T k- 83 14 10 11 35 138
4 mks™ AR KER EF2 R=EE RF k4 79 90 90 38 218 72
4 mksm BARHE] KER EF3 |EH =¢% 2] 87 180 150 41 371 30 284 250 90 624 32
4 makE™ BARET KRS R =iE FT E:S 81 140
4 mksm AR KER FHR2 140




